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1 1to9 11
Solve systems of linear equations by graphing and classify them according to the number of solutions
Jgdar plasiuly ¥ alae plids JS 5
1. y=3x—4 A -y =1
y=-2x+1 5x + 2y = 24
(b ) plasviuly ¥ alael! dediil o JS IS
3. y= —3x¢t 4 1YFEFvr#5%— 9
2y = 10x — 36 3y=5x+5
5.y=05x+4 . —3y=4x + 11
3y=4x—3 LT3y ==7
4x+5y=—41 . 8x—y=50
3y—5x=5 xX+4y=-2
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. y=3x—-4
y=-2x+ 11 (3, 5)

3. y=-3x+6
2y = 10x — 36 (3, -3)

5.y=05x+ 4
3y=4x—3 (6, 7)

+ 5,00 JSJ AED 3
ot s as AED 20

2. 4x—y=1

Joaa plasiul w¥slee plds JS U

5x + 2y =24 (2, 7)

o] el plasviuly ¥ alaedl deddil o JS 5

4. y=—-—x—-9

3y =5x+5 (-4,

6. 3y=4x+ 1

2x+ 3y =-7 (-

8. Sx—y=50
x+ 4y = -2 (6,

Oed) Gle
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5,50 JS) AED 5 gyl Ral s
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(:I.A:'..L..u‘
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2, -1)

-2)

Aallall Jgand) arl; giked) Jiai .9

a2 Sadl LB I i ca¥alas oSl .2
y =3x + 20, y = 5x -0aeed Jere S P
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Solve systems of linear equations algebraically

10 to 25 11

$9gie i ol (il pidy LiBlgce of Silwey Edlpie 645 Eus (o 4oy Gily ¥slee plid JS o

10. y+ 4x =12

3y=8 — 12x
13. x + 5y =3
3x — 2y = -8

16. a —3b = —-22
4a + 2b = -4

19. —6w — 8z = —44

3w + 6z = 36
22. 8a — 3b = -1

5a + 2b= —
A (8, —10)

M. 2x-3y=9
4x + 6y = —18

14. y=2x—10
y=—4x + 8

17. 6x — 7y = 23
8x + 4y = 44

20. 4x — 3y = 29

12. 9x -2y =11
5x + 4y =

@2a+8b——8

3a — 5b = 22

18. 9¢ — 3d = —33
6c +5d = —8

(s plusviuly Ci¥alagl! Aeddil (o aldS US (5

(il alasiuly ¥ slagd) Al ge pLAS S 5

21. 3a + 5b = =27

Sobsdl pladl Jo sa Lo saale (o Lis-¥) .25

4x + 3y =35 4a + 10b = —46
23. 5a + 15b = —24 24. 6x — 4y =30
—2a — 6b = 28 12x + 5y = —
4 + 3y =2
4x — 2y =
B (2, —2) C (=10, 14 D J> s> ¥
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y 10 y .|
A | [y +4x=12 }f\y ¥ =
3y=8—12xji\ \( [sx+4y=13] /
\ AN
o \ \ | x ™~ 0 X o \ [*
\ N [—2x—3y=9 9 —2y=11] N
\ N DLt R DDAy o
- S [/
lax+ey=—18 [T ¥
Lé“"'i‘.):m’ C_i‘l_\ ié.ulia J‘i" Q¢ -'! " 4
Lo 9atl) aladioly ¥l a3 (IS Ja
3. x + 5y =3 I y=2x—10 2a+8b=—8
3x—2y=-8 (=2D y=-Ux+8 (3, - " 3a—-5b=22 (4, —-2)
6. a — 3b=—-22 7. 6x — 7y=123 18. 9¢ — 3d = —33
Uag + 2b= -4 (-4, 6) 8x + Uy = uy (5,1 6c + 5d= -8 (=3, 2
Jhdal] aladiody cialaas aUT S Ja
9. —6w — 8z= —Ul 20. Ux — 3y =29 2. 30+ 5b=-27
3w+ 6z=36 (=2, 7) Ux +3y=35 (8, D Ya + 10b= —U46 (—U4, —3)
22. 8a— 3b=—ll 23. 5a+ I5b=-24 24, 6x — Uy =30

5a+ 2b=-3 (- D

A (8, —10)

—2a— 6b=28 J> amV 12x + 5y = —I8 (I, —6)

B Sbsdl allaud) Jo g0 Lo d0aZie (po ylise) 25

Ux + 3y =2
Ux — 2y =12
B (2, -2) C (~10, 1w D Us usg ¥
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14 to 22 28

Find the maximum and minimum values of a region

DI g ity pebhal] gl dary Aend! Jokon! Kidaie (wgdy kSl ey Gily Slalie pLAS S e

Jdadaied) adgd dllasg

14, 9<x<-3 x=—8 16. y = |x — 2|
—9=<y=-5 3x + 6y <36 y<38
3y +12x < =75 2y + 12 = 3x 8y +5x <49
flx, y) = 20x + 8y flx, y) = 10x — 6y flx, y) = =5x — 15y
17. x= -6 18. 5=2y=-17 19. 8<x<16
y+x=-1 y=3x+19 y=2x—10
2x+3y= -9 y<—4x+15 2y + x < 80
fle, y) = —10x — 12y flx, y) = 8x — 3y flx, y) = 12x + 15y
20. y<x+4 2. —4<x<8 22 y>|x+1]-2
y=x—4 —-8=<y<6 0<y<6
y=-—-x+10 y=x—=56 —6=x=<2
y=z—x—10 4y + 7x <31 x+3y<14
flx, y) = —10x + 9y flx, y) = 12x + 8y flx, y) = 5x + 4y
«(—5, =5) «(—U, —9) «(—9, —9) .I4 «(—8, —26) (6, 32) «(—8, uh) .19
«—|U40 = alaall ¢(—9 —5) 672 = <haall «(16, 22)
—252 = & sual —UBb = <l
«(—8, —18) «(—8, 10) «(6, 3) .I5 (=3, =7) «(7,3) «3,7) .20
— 40 = G rall U2 = okl U3 = Ldaall ¢(—7, —3)
(—6, 8) (3, 8) (5, 3) «(2,0) .I6 B
105 = o5 yiacd) |0 = (oakiall (—2, —8) «(l, 6) «(5, —) .21
{(—l, 6) (L, —8)
((=6, 5) «(6, =7) (=6, .I7 ' '
! ! ! — = : b ¢ = .
0 = somall U8 = alaal 12 = s el 60 = (ol
(=12, —I7) «8, —17) «5, —5) 18 «1, 0) «(2, D) «(2, 1) «(=U, 6) .22

15 = (<baall ¢(—8, —5)

¢((—6, 6) «(—6, 3) (=3, 0)
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8to 19 35

Solve systems of linear equations in 3 variables

8. -5x+y—4z=060
2x + 4y + 3z = —12
6x — 3y — 2z = —52

M. 4r+6s—+t=-18
3r+2s —4t=-—-24
—5r+3s+ 2t=15

14. 8x + 3y + 6z = 43
—3x + by + 2z =32

5x =2y +5z=24

17. 2x—y+z=1
x+2y—4z=3

4x+ 3y —7z= -8

8. 5x+y—Uz=460
2x+Uy+3z=—I2
6x —3y—2z=-52
(=8, u, -1

ILUr+ 6s—t=—I8
3r+2s—U4t=-24
—5r+3s+2ft=15
(=2, = 1)

4 8x+ 3y + 6z=1U3
—3x+5y+2z=32
5x — 2y +5z=24
(-1, 3,7)

7.2x—y+ z=1
x+2y—U4z=3
Ux+3y—7z= -8

Jadagmy

@4a+5b—6c=2 10.

—3a—2b+7c=-15
—a+4b+ 2¢c=—13

12 —2x+ 15y +z=44 13.
4x+ 3y +3z=18

—3x+6y—z=28

15. —6x — by + 4z =53 16.
Sx+3y+2z=-11

8x — 6y + 5z = 4

18. x +2y=12 19.
3y —4z=25

x+6y+z=20

9. Ua+5b—6¢c=2
—3a—2b+7c=-I5
—a+U4b+2c=—-13

(=3, -2 -1
12. —2x + 15y + z= Uy
Ux+3y+3z=18
—3x+6y—z=28

Ja ey
[5. —6x — 5y + U4z =153
S5x+3y+2z=—ll
8x—6y+5z=14

(=i, —I, 6)
18. x+ 2y =12
3y—Uz=25
x+6y+z=20

6, 3, -

Al ¥ alagd! dediil o

—2x+5y+3z=-25
—4x — 3y — 8z = -39
bx + 8y —5z=14

4x+ 2y + 6z=13
—12x+3y—5z=28
—4dx+ 7y + 7z =34

—9a+ 3b— 2c =61
8a+ 7b + 5c= —138
5a — 5b + 8c = —45

r—3s+t=4
3r—6s+9t=5
4r—9s+ 10t =9

Nl a3 JS O
10. —2x + 5y + 3z=—25 (8, —3, 2)
—Ux—3y—8z=-39
6x+8y—5z=14

3. Ux + 2y + 6z = 1343 ¥ Jsla
—I2x+3y—5z=8
—Ux+7y+7z=34

16. —9a + 3b — 2c = 6l
8a+ 7b+ 5c= —I138
50 —5b+ 8c=—U5

(—8, —7, —5)
9.r—3s+ f=1u
3r—6s+9f=5

br—9s+10f=9
g Y Jela
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Perform algebraic operations with matrices

Aloviue iS1D 339> 0 pk WBgiiagd) COIS 13] L doud gl lload! ol b pﬂ

51

2.[-8 2 6]+[11 -7 1] 3.[9 -8 4]+[12 2]
o P B A S B ) e

< Aloviue H.Slé B39 g0yl ﬁ,wl —ols l.ﬂ A god | Salilgad) Q'Pb pﬁ

6 4 0 15 -9 2 3
6. 3| -2 14 -8 7 -6 6 -—11 14 -2
—4 -6 7 4 -8 =10 27
.E,JI.‘ZJI .‘bl.:gq'?Ds C 4y By A wldgaayl f.\:’d.ml
6 —4 -1 —4 9 6 0
A[ 7] C=[1 D=[—280
8. 4B — 2A 9. —8C+ 3A
10. —5B — 2D 11. —4C — 5B
2. 3 -57] [—90 o4 —|2 —I|8
3. Jdnius /. —36 66 —84 12
I [—2 —I8 } 5. [ 31 —I4y ] —24 U8 60 —162
1O | —6 2 g } 0 50 36]
[ I8 "1 -4 38 ' —87 Ul
6. | —6 42 —24 0. Jinise
—12 —I|8 21 [—Zu 29 ]
Il.
—38 —7
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Example 4

‘5

Use the properties of matrix multiplication

Example 5 58

deoill deols las) 4 2,

2 3 1 3 -5 .
= 4LS 131 250 S
‘H=| —2 -8 G [4 5 o]" | w0 JS o
1 7
a. GH y - 9 5
CH=1, o]' -2 -8
- 1 7
_[2-6-5 3—24—35];| 9 _s56
| 8+44+0 12+16+0 12 28
b. HG _
2 3
HG=|-2 -8 [1 _; _g] ey
17
[ 2+12  6-6 -10+0].] 14 0 -10 Ty
=|-2-32 -6+16 1w0+0[*|=3¢ 10 10| o5 e
| 1+28 3-11  —5+0 29 11 -5
02 el
B= [ —3 6] a=|4 ) dewcdly doms AB = BA o5 13) Ls su .4
-4 5 5 —2

R i TR P
a JIK+1I)
woo[ 2 (2 3403 )

13 417 3

-5 2] 2 3

_[—2+8 2+12] 3[6 14]

|l 5-4 —5-6]7]1 -n
b. JK+JL

2 4 3 2 2 4] [-4 =1

“*ﬂz[s 4][4 J*[s ]1 3 0]

_[ 2(3) + 4(— 1 3] [ 2(— 4(3) 2(=1) + 4(0)
| -50) + (-2)(—1 —5(2 2)(3 —5(=4) + (=2)(3) —5(=1) + (=2)(0)
2 16 4 2] .Js .

=[_13 _16]+[14 5]91[1 11] JK+ L) =JK+JL o tay

RO
b sware| =3 7], 4 6], 2“1k, |
SRR "wT_[—et 8] S‘[—2 5] R‘[:L 3] e

(S+ TR = SR + TR

AlIVIbEALY iUT 3/

[ -8 19

AB = [ _ 20] A
N

[ 18 —9

BA = [ o _ 6]
.AB # BA 3
(S+ NDR=.5

5 38

11 us)

I 5 38
SR+TR=| 7 e

S+ TR= SR+ TR

9
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Solve quadratic equations by factoring

sl gl o oh Lo 250 d i8S S M

20.40a? — 32a 21. 51c3 — 3uUc 22. 32xy + 40bx — 12ay — 15ab
23.3x2 - 12 24, 15y2 — 2U0 @ 48cg + 36¢f — 4dg — 3df
26. x%> + 13x + 40 27. x? —9x— 22 28. 3x? + 12x — 36

29.15x% + 7x — 2 30. Ux? + 29x + 30 31. 18x?% + I15x — 12

32. 8x%z%2 — Uxz? — 122>  33. 9x2 - 25 34. 18x?%y? — 2Uxy? + 36y?

AdE) ¥ alagd) e Adalae JS J—3n

35.15x2 — 84x —36 =0 36.12x2 +13x - 14 =0 37. 12x2 —108x=0
38.x2 +Ux—U45=0 39. x2—-5x—24=0 40. x2 = 12|
41. x2 + 13 =17 42. -3x2 - I0x+8=0 43. —8x%2 + Uéx —30=0

ol gad) uJ!&,J._.L,.o Sga> 5,48 IS s

20. 40a? — 32a 8a(5a — 4)21. 51c3 — 3Uc 17¢(3c% — 2) 22. 32xy + 40bx — 12ay — 15ab 22. (8x —3a) «
23. 3x2 — 12 3(x + 2)(x — 2)24. 15y2 — 240 @) 48cg + 36cf — 4dg — 3df 4y +5b)
26. x2 + 13x + 40 27. x2 —9x — 22 28. 3x%2 + 12x — 36 (24. 154()y +4).
29.15x2 + 7x— 2 30. Ux? + 29x + 30 31. 18x2 + 15x — 12 y

2.2 2 2 2 2,2 2 2 25.(12c—a
32. 8x“z¢ — Uxz* — 12z 33. 9x° = 25 34. I8x“y“ — 2Uxy“ + 36y «(4q + 3P
4z%(2x — 3)(x + 1) (3x + 5)(3x — 5) 6y2(3x2 — 4x + 6) g

adbd) @Y slagd) o Walse US 3

35.15x2 — 8Ux — 36 = 0°  36.12x% + 13x — 14 = 0—%,% 37. 12x2—-108x=0 0,9
38.x2 +Ux—U5=05, —939. x2—5x—2U=08, —3 40. x2 =121 11, —11
a.x2+13=17 2, =2 42.-3x2 —10x+8=0 —4, % 43. —8x2 + 4bx —30=0 5,%

26.(x+ 8) 27.(x—=1. 28. 3(x + 6)» 29.5x—1). 30.(4x + 5) . 31. 3(2x — 1) -
(x +5) (x+ 2 (x—2) Bx+2) x+ 6 Bx+ 4

10




050-

2509447

e dalud | ihuas [ (uodal) Jas https://t me/mathbookIDADV % https://t.me/alllaaam82
OFA

) N pidl ) (OS5 i -y 38 ol ) clilatal s o ke 3L

25001 JWSL & Al Oo¥slaall J>

261043 136

Solve quadratic equations by completing the square

JolS o reS 3pand] 2SN caS! @i Mol Lisye sgus A3 JS Jams o) C ded o

26. x*+8x+c 27. x> +16x+ ¢
28. x> —11x+c¢ 29. x*+9x+c
o) JleSh Walee JS J— 3
30. > —4x+12=0 3. ¥ +2x—12=0 32. > +6x+8=0
33. X —4x+3=0 34. 2x* + x—3=0 35. 2x> —3x+5=0
36. 2% + 5x+7 =0 @) 32 -6x-9=0 38, 2~ 2x+3=0
39. x*+4x+11=0 40. ¥* —6x+18=0 41. x* —10x+29=0
42.3x> — 4x= 2 43. 2x° — 7x=—12

11
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26. x2+ 8x + ¢ 16; (x + 4)2

2 121 (. 1
28. x 11x + ¢ 4,()( 2

30.{2 —2iv/2,2+2i/2

31.{—4.61, 2.61)
32, (—4,—2)

33. {1,3}

3
34. {—5, 1}

\ 2

)

27. x2 + 16x + ¢ 64; (x + 8)2
25. x2 4 9x + ¢ 20.25; (x + 4.5)?

o {3—1\/5 3+i\/3_1}

4 4
-5—iV31 =5+ iV31

36. 1 , 1

37. {-1,3}

38. {1—iV2,1+iV2}

39. {~2—iV7,—2+ V7]
40. {3 — 3i,3 + 3i}

M. {5— 2,5 + 2i)

42. {—0.39,1.72}

7—iN4T 7+ iVaT
43. 1 ) 1

12
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Use the discriminant to determine the number and type of roots of a quadratic equation

ean 3 Aalae JSI € ) @ o) ¥ oS
o)) Aed U @
Lgcaig yodadl duc s .b

,:_‘ 22 +3x—3=0 22, 4x> —6x+2=0 23. 6x2+5x—1=0
.6x2—x—5=0 25. 3x2—3x+8=0 26. 2x2+4x+7=0
27. 5x*+4x+1=0 28. x> — 6x = —9 29. 3x2—-7x+2=6
30. —8x2+5=—4x 3. x2+2x—4=-9 32, —6x2+5=—4x+8

ol LY AIGALY L Tl 2 gl Bilas gl olS Lew gaaual) bl 33
Jau 3y pailss el GO axd, i aiBl O 163l tllo 0lSs st aeal
aslan) de s plo ) dcall) alaols gl all 130 5,5l adsl)
o) o T ase aay alad¥l B adaslsd) glas,) aslae ols 35 ft/s
h——16t2+35t+5u.¢

alel s Jgd 25 ft o ¥ e 3s0 338LJ) glasyl olS 13) @
0 Sl aad aladle Llaal¥ dnyd angs ¥ ol glio,d o 2,3 plla

ed gpzall Zal alable blull g e oSen o) 13) b
about 2.3 seconds ‘o= S Jear

paasiy i e e pread Gle gssae Yswiige Joy gilaied) Saddl .34
dalael) plasialy golall G dr i oSe o) a.h..; AP S
ouadaznidl o sla¥l 2a8¥) 8l X cus y = 0. 00005x% — 0.06x
Gy gla,¥ Y Bay o) plaw saiwe B @) Ladie (5 el
lanie Gkl glas,) oS U.Ji 28add) e (235 wlade pog guwangd
st ) 2ad¥ SBlagl L o) pla gorued Bglus

Omand 1200 m [ wledle Lavic
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21a. 33 26a. —40 31a. —16
21b. 2irrational 26b. 2 complex
e =3 VB e, —2£IT0 31b. 2 complex
K ‘T 3Mc. —1+2i
22a. 4 27a. 36
22b. 2 rational 27b. 2 rational 32a. —56
92¢. 11 2lc. 1,— 32b. 2 complex
| i 2tivia
23a. 49 28a. 0 3¢, 2% é\/
23b. 2rational 290+ Trational
ZBC. %‘ _1 28(:. 3
29a. 1

24a. 121

. 29b. 2 rational
24b. 2 rational A

5 290 | il
24c. 1, —= 3

6 30a. 176
25a. —8/
255, 2 | 30b. 2irrational

. 2 complex L /T
3+/1/87  30c. _;/_

25¢c. —

6
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y=a(x - h)A2+k dauall duauyd Als LLS
10 lto 16 154
Write a quadratic function in the form y=a(x - h)A2+k
o) ) Ay Wy JS S|
1. y=x>+6x+2 2. y=—-2*+8x—5 3. y=4x?+24x+ 24
(-=3,6)1Y 2 amdgall dslag)l Lo saaia (ro Hlas-¥) 4
Told) Jied)
/ \ Ayz—(x+3)2+6
H{=5,2) By=—(x—-3)2-6
[ \ Cy=-2x+3)2+6
| Q| [x
4 \ Dy=-2(x—3)2-6
Lols W1s US e
5. y=(x—3)2—4 6. y=—22+5 7 y=>(c+6?2—8
o) ) Ay iy S S
8 y=x>+9x+8 9. y=x*—6x+3 10. y = —2x2 + 5x
@ v=2+2+7 12. y = —3x% + 12x — 10 13. y=x%+8x + 16
1B, y=2x2—4x-3 15. y = 3x? + 10x 6. y=x>—4x+9

15
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1L y=(x+3)*-7
2. y=—2(x—2)*+3
3. y=4(x+3)*—12
4. A

pISE iRERET

¥ |

4-—-'

¥ 9\%_49
8.y—(x+2) e

9.y=(x—3)%—6

2
10.y=—2(x—§) +2

4
Ny=x+1)*+6

|
|
|
|
|
=
|
!
|
|

12. y=—-3(x—2)%+2
13. y= (x + 4)?
14.y=2(x—1)%-5

2
15.y= 3(x+§)

3 3

16. y=(x—2)%+5

<t |

_2

16
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11 13to 24 162

Graph quadratic inequalities in two variables

B.y=>x2+5x+6 14, x2 - 2x—-8<y 5. y<—x?—7x+ 8

16. —x?> + 12x — 36 >y 17. y>2x? = 2x — 3 18. y>—4x? + 12x — 7
cbed) S plasiuly dylie JS J—s3n

19. x2—-9x+9<0 20. x2 - 2x—-24<0 2. x2 +8x+16=0
22. x24+6x+3>0 23. 0 > —x2 4+ 7x + 12 24. —x°+2x—-15<0

17
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13. ﬁ }'r 5. [ [T T 1L —20”’ [
\, / L /.7 \\{ _|
\ //‘ 8
0 x [imEEEEE 4.\ |
XA | ¥ |- |—4 [=2 |0} Y 2x
: 2 '
= ‘; 0 .I‘l = 16. . y e
3 {IBN of . ';__\‘____I__
T < BF il = F) -\‘
\ i AT
- § £ 4
! | y | LEMN P!
n | [ 14 7 o
LV TR
| [ I HEREN !
17. B N
| 1
ol x|11<x<7.9}.19
B 'f' h x| -4 <x<6}.20
.‘!i..._.jl' {dduind) 1) puega~]} .21
~ {x | x < —5.45 o/ x > —0.55} .22
. - - {x|x < —1.42 ol x > 8.42} .23
. y .
/\ ' {adasd) daet) pp>} .24
0 ,‘ | |'%
- 18
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Add, subtract, and multiply polynomials

Ldguad! § A8 dory LSHB (EUAS YIS GO 3gdo 8 piS gl S S ol Lo S

24.2x> —3x+5  25. a3 — 11 26. 5@-% 27. Vm—7
n
ij00 Jaus¥ Ji>
28. (64> + 5a + 10) — (4a* + 6a + 12) 29. (7b>+ 6b—7) — (4% - 2)
30. 3p(np — 2) 31. 4x(2x® + )
32. (x— y)(x2 + 2xy + yz) ‘5@‘;;,53 (a + b)(a® — 3ab — b?)
34. 4(a®> + 5a — 6) — 3(2a° + 4a — 5) 35. 5c(2c% — 3c + 4) + 2¢(7c — 8)
36. 5xy(2x — y) + 6y*(x* + 6) 37. 3ab(4a — 5b) + 4b*(2a% + 1)
38. x—y)x+y(2x+y) 39. (a+ b)(2a + 3b)(2x — y)
24. gas; 2 2.+ xy—xt—y
25. pai; 3 33. a® + a’b—3a%b— 4ab* - b’
26. % 34, —6a>+4a%*+8a—9
27. % 35.10¢3 — ¢2 + 4c¢

28. 2a2 — a3 -2
29. 3b%2 +6b—5
30. 3np? — 3pz 37. 12a%b + 8a%b? — 15ab? + 4b?

31. 8x> + 4xy 38.2x° + X%y — 2xy% — y°
39.4a%x — 2a%y + 10abx — 5aby + 6b*x — 3b%y

36. 10x%y — 5xy? + 6x%y? + 36 y>

19
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Identify general shapes of graphs of polynomial functions

1y S p(8) g p(—2) igd a

43. p(x) = %x‘l + %xs — 4x? 44. p(x) = %fl — %x?’ + 12x — 18
45. p(x) = %x‘}' — %xz + 6x 46. p(x) = %x?’ - %xz + %x + 10

b)) Lelile po 39a> S US Disliagd B dal) Sgludly dor ) pusis!

A \ f(x) B £(x) C \/ f(x) D FOOR
(0] X /./\ \

IR IR T A
47. f(x) = x> + 3x? — 4x 48. f(x) = —2x> +8x +5
49. f(x) = x* — 3x% + 6x 50. f(x) = —4x® — 4x? + 8

ad S sond A1) =42 — bx+ 8 gcl) =03 — 2x s 13)

51. 3c(a — 4) + 3d(a + 5) 52. —2d(2a + 3) — 4c(a® + 1)

53. 5c(a?) — 8d(6 — 3a) 54. —7d(a®) + 6¢c(a* + 1)

43. p(—2)=—16; p(8) =1024 a7. D 48. B
44.p(—2)= —28; p(8) =178 49. A 50. C

45. p(—2) = —0.5; p(8) = 3112
46. p(—2) = 15; p(8) = 304

51. 3a® — 24a? + 240a + 66

52. —4a® — 12324 — 3622 — 72a — 48
53. 52 6 — 298a 2 + 10082 — 928

54, 6a2+18a8—-28a%+6a%+42a3—62 20
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Find the relative maxima and minima of polynomial functions

.k Leo S Josi

k) Jgoor das) @apde (b Lily W1a US e .2

i e S ey ady I X feswad! ddal) A8laiyd) pddl 3d> b
Griadly peldad) i) (lindd! Lanie Giaas I ¥ ollaa] 448 .C

14. f(x) = x° + 3x? @ fl) = —x3+2x*— 4

16. f(x) = x> + 4x? — 5x 17. fix) =x° —5x* + 3x + 1
18. flx) = —2x> + 12x2 — 8x 19. f(x) = 2x> — 4x> — 3x + 4
20. fx) =x*+2x—1 21, flx) = x* + 8x2 — 12

Sl W) e pial) dagrd) o) el i oSe Al 48 2yl 22
sl g f(X) 4 1987 ple aay cilgid) sie 50 X o Sx) = 0.0007x3 — 0.014x2 + 0.08x + 0.96
(Sole¥) pa,all
0 =<x<30 e Blo A fiw @
Al aSeluy Sldl fial) ol)es dolns o .b
e sad! Sl pled! Jéedd) Ly amy L3 wlala¥! L .C
T Saeg;_y S oo ¥ et Q‘I-L_,:a_la.-..qu oo Ja.d

A g rhally peldal) gl Laaie JSEG U0 L las Yl padt) Sl bie dawls aasiul
R RVIPIE U] QP
23. flx) =x>+3x2 —6x— 6 24. f(x) = —2x> + 4x> — 5x + 8

25. f(x) = —2x* +5x° —4x?> + 3x — 7 26. f(x) =x° —4x> + 322 —8x— 6

21
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pafiall pilall (S g gand - il 8L ?

Gl %1 Zses .22b
u""""” oo U gs—'\-'
=10 aie (3] S

X 83k S e

e | ;2‘5
¥
:#u‘

sx = 1.34
—4 —16
-3 0
-2 <
—1 2
0 0
1 -
2 20
3
- 12

s> .23 ‘,.aﬁ"i.\a-..u- ¥ .24
Y S
3 ) ‘..'r!-w C ol
X =273
W% ol
:‘,.‘...u..J_ vl
x= 073
o) .26 3959 Pledd! el Ty 22¢
‘_,-aj“ﬂ o W (] ooy R aalaJ
ol <l y%9a 5 (M) L Jl.i.uﬂ Jeoas
X = —1 87 d_g-lau .\:-!9." O od bl
ua.s‘ﬂ S | LJ-O-O O o o9 L;.\Ji J.a‘l! 2012 ‘al.s
:U'f-“'.""
x =152
f(x)
8
6
4

—8—6—44-2 2 4 6 82

4

—6

—|8

—3 ey 0 e 14b

24 | ;o) ad%) o) 14c

%) o) x = —2
X = 0 :u-::’-b\-"
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050-2509447 Y adiiall bl Sy gy o 3
-4 | 92 6
4

-3 | 4 >
—2 12 —8 6420 2 4 6 8x
—1 | —1 1A
0 —4 —6

8
1 -3 |
2 —4
3 | -13
4 | —36

—2 s—1 4. .15b
X =1 aas) Lad¥) sl X = 0 aasdl 5% as) J15¢

—6 | —42 24
0
=5 0 6
-4 | 20
-3 | 24
-2 | 18 /
8 6}4—20"2 4 6 8x
1| s LY Ly L]
0
1 0
2 14
3 48
16b. -5, 0, , 1

RNETCEN | ¥ asdl X = —3 T ¥ asdl L16c
x=1,x=0
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050-2509447 U paiall Hilal) iS5 guad - 0 5lE F Cilualy ) cibilaial 5 2 Dl 3L
—4 | —155 60
40
-3 | —80 20
|
—2 | 33 —4-3_2_A0 1"‘1‘7%
-1 -8 J/_L;o
0 1 f1-60
80
1 0 |
2 -5
3 —8
4 -
5 16

X=59x=4d._¢,19 +09—1L_H_+.X=1_\_._c.17b

X = 3. aasl) ¥ sl X = %:g:.___ml a3 asdl 17c

—1 | 22 g
b5 \
0 0 / \\
1 2 >
2 16 /
/
3 30 3290”1 2 3 4 dx
4 32 HEEREER
5 10
6 | —as
7 | -154

695&9190&,0&.“..18b

sad¥ asdl X =13 x=0 g0 RN o) axl L18¢C
X=4 o loa (i)
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Cilualy ) colilanial 5 a2 Dl 3l

050-2509447 Y a3l (1S5 g ol ol
-4 | -176 6
-3 | =77 .\
N “8¢-22p|\1 2 6 8 x
—1 1 1,
0 4 6
1 —1
2 -2
3 13
4 56

X=2 303, X=1x=0 o ,X=—-13x=-2 4. .19b

x=3,

¥ asdl o x = —03 o Lo i) a3l asd) 19c
X=16 ;a2 Lo, N REN]

B 12

4 | 247 ©
-3 | 74 8

ol

= 1 o1
= =7 \\ 2

0 —1 43 72\M0F 1 2 3 4x
1 2 R [ ]

2 19

3 86

4 | 263

Xx=1,x=0 o5 x=—-1,x=-2 . .20b

u_.ajl s asg ¥ X = =1 o Loy® o pmasdl LT‘IJ:XW a=J) .20c¢

e
BT
-4 | 372 'l‘ 60 ,’
-3 | 141 50
40
-2 | 36 30
_ _ 20
1 3 \*o 1/
o | -2 A\ IV
1 . —4-3 2N A 2 3 4%
_ [ ] L[]
2 36
3 141
4 | 372
X=2sx=103x=—-1,x=-2 . .21b

X=0 4o L2 3% .21

/
P

N w1 o

—

0 5 10 15 20 25 30

aedaslal Slaw¥ (Seall o @l oo gL sl ul>Y) .22d
s ) Jatoadl gpa s B) o Janad) 1ig gl B puzas o

) glas ¥ Mis e kel CBgw 35840l Jaal) abias
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Solve polynomial equations by factoring
Adslae US s

Sl 13] A i Gy et JS LS

30. x*+x2—-90=0 3. x*—16x2—-720=0 32. X*—7x2—44=0
33. x*+6x2—91=0 34. x3+216=0 35. 64x3+1=0

36. x*+12x2—8 37. —15x*+18x2 — 4 38. 8xb+6x°+7

39. 5x6 —2x2 + 8 40. 9x% — 21x* + 12 4. 16x°+2x°+ 6

42. x*+6x2+5=0 43. x*-3x2-10=0 44. 4x* —14x>+12=0
45, 9x*—27x2+20=0 46. 4x*—5x2—-6=0 47. 24x*+14x2—-3=0

30. 3, —3, +iv/10
31.6,—6, +2i\/5
32. +V/11, +2i
33. +\/7, +iW/13
34.-6,3 +3i\/3

35. —,

36. (x9)? + 12(x?) — 8
—15(x2)2 + 18(x2) — 4

37.

1 1+iV/3
8

38. 2(2x3)% + 3(2x3) + 7
Lay 0eSy .39

40.3xH% — 73xH + 12

41. 4(2x5)?% + 1(2x5) + 6

42. +i\/5, +i

43. +/5, +iv2

44.+\/2 +ﬁ

\/_

45. +

46.

H
I+

47. +

I+

: ﬂ”lﬂw ﬁ

\/_
NG
6’

Adslae US s

26
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Determine whether a binomial is a factor of a polynomial by using synthetic substitution
3gaoul 8,58 (s dcaiied) Jolgad) a plalge dvlg 3gdo & pAS 3 g g
17. x3 —3x+ 2;x + 2 18. x* +2x3 —8x — 16, x + 2
19. x3 —x2 —10x — 8 x + 2 20. x3 —x?-5x—3;x—3
21. 2x3 +17x% + 23x — 42; x — 1 22. 2x° +7x?> — 53x — 28;x — 4
23 x*+ 23+ 2x2 — 2x — 3, x — 1 24. X3+ 2x2 —x—2;x+ 2
25. 6x3 — 25x% + 2x + 8; 2x + 1 26. 16x° — 32x* — 81x + 162; 2x — 3
17.(x — 1?

18. x—2,x2+2x+ .
19. x—4, x+1

20. (x + 1?2
2. X+ 6, 2x+7

22. x+7, 2x + 1
23. x+1,x%2+2x+3

24. x—1, x+1

25. x—4,3x—2
26. X —2.2x +3,4x%2 +9

27
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Find the composition of functions

S e W13 U5 gaedly Jlomed! a2 53900 SOUS 13] g0 flo fo g ded war (Sl Lew il S
21. f={(-15, —5), (—4, 12), (1, 7), (3, 9)} 22. f {(-=1,11), 2, =2), 6, =7), 4, —4)}

3= {(31 —9), (7,- 2)r (81 _6)r (12, 0)} ( ) (4 _3) ( 1r 2)r (21 3)}
23. f= {(Tw _3)1 (—10, —3), ( 7,- 8) 3 6)} 24, f {( ’ ’ ( 2)! (31 _3)! (41 _4)}
g=1{@4 -3),3,-7), 9, 8), (-4 —4)} ={(, ) (2, =3), 3, —2), 4, 1)}
25. f= {(—4, —1),- (_21 6)r (_L 10): (4-1 11)} 26. f {( ) (9 _2) _1)r (6r 3)}
= {(_1, 5)1 (31 _4)1 (6, 4)1 (1(): 8)} T {( ) ( 2, 6) ( 3, _1); (_4r 8)}

S o A1 S uedly Jlomed! uo~ 82gar g0 <olS 13 g 0 fI(X) o [f 0 gI(X) Aesd uo

27. flx) = 2x 28. f(x) = —3x 29. flx) =x+5
gb) =x+5 glx)=—x+8 gy =3x—-7

30. flx)=x— 3. flx) =x2+ 6x— 2 32 f)=2x>—x+1
g(x) = x* =10 gx) =x—6 glx) =4x +3

33 fl) =4x—1 34 fl) =x*+3x+1 35. f(x) = 2x>
gx) =x°+2 glx) = x2 g(x) = 8x* + 3x

D=®@, R=0@; .auglsa & fOo g .21 D=@, R=0; aslss .c O g .24

go f=1{(-4,0) (4, 2)}, D=0,R=0 .aglas ne gof
D ={-4,1 rR={0, 2} 25. fo g=1{(3 —1), (6 1)},
fog={(—-1, -2, D=1{-1} .22 D=1{3, 6} R={—1 11}
f o g .doglaa i ‘R = {—2} gof= {(—4, 5), [—2, 4), (—1, 8]},

D=@ R=Q D={—4 —2 —1}, R=1{4,5, 8}

fog=1{4,6),3 -8l D=03,4, .23 26 fog=1{-23) (-4 -1}

109 aslas oz R=1{-8, 6 D = {—4, =2} R ={—1, 3},
3=D=0. R go f= {012, —1), (9, 6), (8,5},

D =189 12}, R = {—1, 5, 6}

28
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1. f2g={~4 4),D=(~4,R=(49-/=(-80,0, -4
(2, —5),(—6, =1}, D={—6,0,2},R={-5, —4, —1, 0}

18. fog={(6,12)},D={6},R={12};g-f={{—715),(4,1),
(—3,8)}L,D={—7,—-3,4,R={1,5, 8}

@;gof pslrs e D=,

19. fog psle 2 D=9 R
R=@

20. fogesls me D=@ R=@:g-f={(—4,9),(0, 1),
(—6,13), (2, —3)}, D = {—6, —4,0,2},R ={—3,1,9, 13} .

e o Lo amasd) slace¥) pos o goedly ¥ln]) .35-28
U WS anass

tox} = R Jazasd) 5lae¥ pn b fogllx) = 2x + 10, .27
slae¥) aent = D[goflX) = 2x + 5, {ay)) slac?)
{as,a)) slaced ]’ = R {aicas)

28. [fogl(x) = 3x — 24:[g = f](x) = 3x + 8
29. [foglix) = 3x — 2;[g > f](x) = 3x + 8

30. [fogl) =x2 — 14, R={yly= —14);[g=f]ix) = X% — 8x + 6,
R={yly=—10}

31 [fegl) =x2—6x—2,R={yly= —1};[g°f]x) = x% + 6x
~8R={yly=—1)

32. [foglx) =32x% + 44x + 16,R ={yly = 0.875};[g > f]x) =
8x2—4x+ 7, R={yly=6.5)

33. [fog|(x) = 4x3 + 7;[gof]x) = 64x3 — 48x%2 + 12x + 1

34. [foglx)=x*+3x2+1,R={yly=1;[goflx) = x* + 6x3 +
Mx2+6x+1,R={yly =0}

35. [fogl(x) =128x* + 96x3 + 184, R={yly = 0} [g = flix) =
324+ 6x2, R={yly = 0}

29
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Find the inverse of a function or relation
il WwsSaag dln US (o b . o Lee W13 US waSan s gidaied) Zliziw)

15. flx) =x+2 16. g(x) = 5x 17. flx) = —2x+ 1

18. h() =22 19. fx) = —2x — 8 20. g(x) =x + 4

21. flx) = 4x 22. f(x) = —8x +9 23. f(x) = 5x?

24. hix) = x>+ 4 25. f(x) = —x -1 26. fix) = (x+1)2+3

27. fx) =2x + 3
g =2x—3

30. f(x) = —6x
gk =¢x

33. flx) = 4x?
gkx) = %\/x_

36. flv) = 2°

gkx) = \/%_x

27. flx) =2x+3

gx)=2x—3 %
30. flx) =
glx) = —x ¥
33. flx) = 4x?
§0) = JVF

36. flv) = 2°

gk =\/§7x ¥

¥ petd oS|GS laio ol (e pets Jlgod! (o Za) S LS 13) Lo dus

28. flx) =4x+6 29. f(x) = ——x +3
(I):x;6 gx) =—3x+9

31. flx) = 2x+5 2. fiy =210
glx) =2x —10 Q) = 8x —10

34. fix) = 327 + 1 35. ) =22 — 9
g(x) =vV3x—3 gx)=x+3

37. fix) = (x + 6)2 38. flx) =2vx—5
g =vx —6 glx) =

Yol ptd CAS) Ll 1S e s Jlodd) (b0 E9) JS OLS 13) Lo das

28. f(x) = 4x + 6 29. flx) = —3x + 3

xX—6

glx) = 1 P g) =—3x+9 pa
3. fly) =3x +5 32. fy) =221

g(x) =2x — 10 2 g(x) = 8x — 10 pd

1

34. f(x)=§x2+l 35. flx) =x2—9
=\/3x7—3p-u g)=x+3 %
37. flx) = (x + 6)? x) =2Vx—5
gy =vx — 6 p2 g(x) —x—5 )

30
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15. Flx) =x— 2 1 1
. : 23. ') = £4/2x
AL
,
f(x) P ﬂx}r\ | .7
: \1 /.2
/"1"0/ X -
’v‘ |f_1(x}} , [_n_‘
7 R f(x)
}d" _ ./:'. ||
17 =%+
24. ') = +\Vx— 4
X Lz N
1 \ I ’I’ ITj | ’f ‘38 yf A
h . o s [hx) o
00 3l . ==l o
d ’ s “ ’
7 =
¢ X [ 1|0 _—~ X s
TN T e‘/’/lf@_ Z8 -4 /’" 0 X
,1' \ o ' ’_4 E@
e F00 ,.f)[ e |
F# | | » ,}/ L
19. i) = —g (x + 8) 20. g () =x—4
- —1) —
X %4 y o« 25. F )= +V2x+2
= \ y 4
[+
| Jo ¥
flx) | //.;f
T4
\ A7
X
2 NEY N
’ g
v S~

26. ') =+Vx—3-1 I

A

Y

4

ed

r.

A

8

’

hd

-
4 8 x
-~
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Simplify radicals

12, +/1212%1 13.
15. —\16¢%d2 16.
18. \/(x+ 15)4 19.
21, V82512 22.
24, —\/(2x + 1)6 25.
27. V/x18 28.

30. v/81(x + 4)4 31.
33. /256(5x — 2)12 34,

12. £\/121x%% +11x%y® 13
15. —V16c*a —4c?d| 16.

18. \/(x +15)* (x + 15)2 19.

21. /84502 2a%b% 22
2a. —\/(2x + 1)6—|(@2x+ 13| 25
27. Vx® |x3] 28
30. v/81(x + 4)* 3|(x+4)| 31

33. 1/256(5x — 2)111 5x— 20| 34,

+1/225416536 14. +V/49x*
—\/81216p20c12 17. —/400x32y%0
(x% + 6)16 20. \/ (2% + 40)12
V2436 23. V276812
—(x+2)8 26. \/—(y—9)?
al? 29. Va2
(4x — 7)% 32. v/(y> + 5)8
x16y8 35. W

+1/2254164% +15¢85™8 14, +\/49x* +7x2
/8141552012 —9g8p10¢5 17,
Ve2+6)16 (2+6)8 20, \/(a2 + 40)12 (o + 4a)°
. V%36 xS 23. V27618:12 3p6c4
A=+ 28 i+ 2)*
. Va? 3|
 (@x—7)% (Ax—7)%
{75 <)

29. V3 al? g*

Ay Jausd Jaor

—4 /400x32y40 _20X16y20

26. \/—(y—9)° —(y—9)°

32. 7/ + 5 (/* +5)°
35. /32415510 203p2
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